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All Questions are compulsory

Q1. You friend wishes to take motor vehicle loan of Rs.10 lakhs. He approached you to determine his monthly installments. You are required to help your friend to compute monthly instalments and prepare loan amortization table with the information given. Loan is taken for a period of 3 years at the rate of 14% p.a.											           (5 Marks)

Q2. 
A. You wish to accumulate Rs 8,00,000 by the end of 5 years by making equal annual year-end deposits over the next 5 years. Assuming 7 per cent rate of return, how much should you deposit at the end of each year to accumulate Rs 8,00,000?							             (1 Mark)

B. An investor has two cash inflow options to choose from: (a) Rs 6,000 after 1 year; (b) Rs 9,000 after 4 years. Assuming a discount rate of 10 per cent which alternative should he opt for? 	            (1 Mark)
C. ABC Ltd has borrowed Rs 1,000 to be repaid in 12 monthly instalments of Rs 94.56. Compute the annual interest.										            (1 Mark)
[bookmark: _GoBack]D. How many years will it take for Rs. 2,36,000 to grow to be Rs.8,68,000 if it is invested in an account with an annual interest rate of 7.5%?							           (1 Mark)

E. You are offered an investment with a quoted annual interest rate of 12% with half yearly compounding of interest and another option is to get 11% monthly compounding. Compute the effective return for both investment and which option will you select for investment.	           (1 Mark)

Q3. HCL presented with an investment opportunity that will yield cash flows of Rs. 20,000 per year in Years 1 through 3, Rs. 50,000 per year in Years 4 through 6, and Rs. 40,000 during 7 to 10 year.  This investment will cost the firm Rs.1,20,000 today, and the firm’s cost of capital is 10 percent.  What is the payback and discounted period for this investment? Evaluate the opportunity in terms of NPV and IRR? Compute MIRR if reinvestment rate is 8 percent. 									          (10 Marks)


